H & 0l & AHS B Ml A

2H
T Moty XA (MESX/IIZMEEE)
=

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

SXIE 1L 26,209,442 24,347,867 1,861,575
13,446,446

334,040
2,490,690
9,938,266

oW

=

MNASE daotd X (MISX/OIZde2E) 12,264,353 10,870,170 1,394,183
9,611,571
1,104,844
1,547,938

Mo

=

=D |=Me2F 10,478,785 9,268,332 1,210,453
8,239,324
1,019,902
1,219,559

hoH

=

A= 10,159,600 8,876,000 1,283,600
8,127,680
1,015,960
1,015,960

o

=

301 LENZ 10, 159,600 8,876,000 1,283,600
8,127,680
1,015,960
1,015,960

mhoH

=

01 Al EHAGZ2(2DEZME) 10,159,600 8,876,000 1,283,600
OdA=N 10, 159,600,000 10,159,600
8,127,680
1,015,960
Al 1,015,960

Mo

wWEs 29,989 27,633 2,356

308 XXM SOOI 29,989 27,633 2,356

08 W= |&0tetEx 29,989 27,633 2,3%
wNESH 29,989,000 29,989

[ PSP = 65,712 58,750 6,962
52,570
3,942
9,200

hoH

=

301 LENZ 65,712 58,750 6,962
52,570
3,942
9,200

hoH

=

01 A EBEHAGZ(ZDEZME) 65,712 58,750 6,962
Ol &R =0 65,712,000 65,712

52,570
3,942

Al 9,200

Mo




2A:

SO HASS MEOE NA(ME=N/JIEMEEE)

o IR ZMETE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=2l X2 59,074 59,074 0

= 59,074
301 EtE NS 59,074 59,074 0
= 59,074
01 Al EE AT S (2 RDEXMR) 59,074 59,074 0
OXBUTR| Ebiy| X
59,074,000 59,074
= 59,074
JlzdE2dyoAdEs 29 1,360 1,824 A464
201 eer23| 560 1,120 A560
01 Al 22| 560 1,120 580
O ZMBETSIRS HHLL
70,0002 x8H*13] 560
202 04| 800 704 %
01 =LHOLI 800 704 %
OINZMEDE Fuzw
100,000& x22 x2H 23] 800
NS A 28 H 2 =8 1,050 2,100 21,050
201 er2&| 1,050 2,100 21,050
01 At2teltl 1,050 2,100 1,050
O%dz g4+4 70,0002 %152 *13] 1,050
Al MASE K& 162,000 174,000 212,000
307 @120l & 162,000 174,000 12,000
012z € /=4 162,000 174,000 A12,000
OXe?l MNASE RUASBEEE X2
13,500,000& 123 162,000
HAS KEXE 1,785,568 1,601,838 183,730
= 1,372,247
s 84,942
Al 328,379
Xxttde 2 (2hl) 262,284 250,917 11,367
= 183,599
Al 78,685
307 lztol & 262,284 250,917 11,367
= 183,599
Al 78,685
10 Al SXAAIEEHE 22X 262,284 250,917 11,367
OXg e 29 262,284,000 262,284
= 183,599
Al 78,685
AHgtAtell2te] =JF iRl XI& 31,474 29,263 2,211
== 6,295
Al 25,179




2A:

E M

MBS =HESE)

R i (EHl: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 31,474 29,263 2,211
= 6,295
Al 25,179
10 Al SXAAEEHE2EHI2x 31,474 29,263 2,211
OXHE Atefl 22l BHXl At
31,474,008 31,474
=S 6,295
Al 25,179
RHEtALS AAID| 2 Her2ist 6,000 6,000 0
< 1,200
Al 4,800
307 lztol & 6,000 6,000 0
= 1,200
Al 4,800
10 AlRISXAIEEHE 22X 6,000 6,000 0
OREAY MADIZ A
6,000,000& 6,000
= 1,200
Al 4,800
a2z X 1,290,775 1,192,783 97,992
= 1,032,620
= 77,447
Al 180,708
307 @120l & 1,290,775 1,192,783 97,992
= 1,032,620
= 77,447
Al 180,708
05 212t =S 1,290,775 1,192,783 97,992
oltgz2z N 1,290,775,000& 1,290,775
= 1,032,620
= 77,447
Al 180,708
S| ISSE AKX 537 537 0
= 430
Al 107
301 EtE NS 537 537 0
2 430
Al 107
01 Al 2E A S(SRNEXMHE) 537 537 0
O3I=SE1 XA 537,000 537
= 430
Al 107
S|YIISSE2 A 30,000 6,053 23,947




2A: SXEA
. HASE MEHE X2 (ASSX/ I ZMEEE)
eelr MAS THEXH (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 24,000
Al 6,000
301 LBBNZ 30,000 6,053 23,947
= 24,000
Al 6,000
01 AISIBE XS (2 RETME) 30,000 6,053 23,947
Os|IIz5SE2 XA 30,000,000 30,000
= 24,000
Al 6,000
HEIISSE A RIA 65,028 10,934 54,094
= 52,023
Al 13,005
301 LetEHZ 65,028 10,934 54,094
= 52,023
Al 13,005
01 A B& X Z2(2REETHA) 65,028 10,934 54,094
ougrIsSxd XA 65,028,000 65,028
= 52,023
Al 13,005
HEsWIISEE MIXA 1,405 1,405 0
= 1,124
Al 281
301 LB F 1,405 1,405 0
= 1,124
Al 281
01 Al B &N Z2(2REETR) 1,405 1,405 0
OyEyWII=SE K& 1,405,000& 1,405
= 1,124
Al 281
FEUNMEAM XA 10,000 5,987 4,013
= 8,000
Al 2,000
301 LB F 10,000 5,987 4,013
= 8,000
Al 2,000
01 AISIBEH 2GS (2 LEXZME) 10,000 5,987 4,013
OFEMFAHA XA 10,000,000& 10,000
= 8,000
Al 2,000
SIYMFAHZE AFSE XA 12,707 12,707 0
= 10,165
Al 2,542
301 LPENZ 12,707 12,707 0




A SXE

X ZH )}
O_\
N HYASEZ M5

SOt KR (AZIEX /I ZH2EH)
=2 MAS N2 (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 10,165
Al 2,542
01 Al EEATZ2(2DEZMR) 12,707 12,707 0
O3 ME=AZ 1K 12,707,000& 12,707
= 10,165
Al 2,542
SIAMFAHE AEXIE 15,000 2,742 12,258
= 12,000
Al 3,000
301 22N = 15,000 2,742 12,258
= 12,000
Al 3,000
01 Al EEAEZ2(ZDEZME) 15,000 2,742 12,258
O3 MEAHZ2 X 15,000,000 15,000
= 12,000
Al 3,000
HAHLHZH(XHAERI0IGH) AFE RIS 25,000 21,740 3,260
= 20,000
Al 5,000
301 LEN= 25,000 21,740 3,260
= 20,000
Al 5,000
NEEEEREEEREESTE) 25,000 21,740 3,260
OBELILHENZHXIAS! 0I5 XIR)
25,000,000 25,000
= 20,000
Al 5,000
HAHLHZH(IHARI=T) AFE RIS 35,358 60,770 N25,412
= 28,286
Al 7,072
301 22N = 35,358 60,770 N25,412
= 28,286
Al 7,072
01 Al EE A S(FRNEXM) 35,358 60,770 N25,412
OFYE UL MZHE (XA o1& X&)
35,358,000 35,358
= 28,286
Al 7,072
FOIMSTBMEIA MR 2=(ARISXI/ At =X 2 et 1,279,288 1,330,907 251,619
= 424,500
= 256,148
< 127,433
Al 471,207




D 2N

FOIMST2IMEIA MLRH RS (AISISKI/AZ SR
TSI RAMEIA KM 2= (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
FOIMSRRAMEIA XJMH 25 8,300 41,720 233,420
FOIMES T2 A HI A A 8,300 9,720 21,420
201 LB-2AY| 500 1,200 AT00
01 AtR2telt] 500 1,200 AT00
O=FQIMET g8 257
10,0002 5001 *13] 500
202 O4H| 2,800 3,520 AT20
01 =ZLHOdH] 2,800 3,520 AT20
OF QI =z
100,000 2B x2 73| 2,800
203 R &I 5,000 5,000
03 Al Z=2IEY 5,000 5,000
OMALES M 5,000,000& 5,000
FHAANE BS 59,700 61,052 1,352
& 24,040
Al 35,660
ekt A3 9,140 6,340 2,800
T 1,440
Al 7,700
201 B2 AY| 1,300 1,300
01 At 2elt] 1,300 1,300
ORH 1D ALK 650,000 *23| 1,300
301 LEENZ 7,840 5,040 2,800
& 1,440
Al 6,400
02 M EEH , KITH&) 7,840 5,040 2,800
Ogeit#s =4l
7,0002 10 * 123 840
OdAR HENHI 20,0003 x5 123 1,200
OdHAXRS 50,0003 x5 *43| 1,000
O3Z&d XA 4,800,000 4,800
& 1,440
Al 3,360
PEH = 4,000 4,000
201 B2 AY| 4,000 4,000
03 A2 G| 4,000 4,000
OF=H = 4,000,000& 4,000
Mol 7S =22l 32,560 30,712 1,848
= 15,600
Al 16,960
201 L2 AH| 32,160 360 31,800
T 15,600
Al 16,560




A SR
A FOMSTRAMEIA JEHAH RS(AMEISX/ALEI=S R
ool FolS 25 (cie) 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 31,800 0 31,800
ONcli+s =3 F10 FABHIAIAE |X
22 50,0002 1242 600
OYAIFEHAIL EXIB HE
400,000 *78H 31,200
== 15,600
Al 15,600
2 S5=24g4l 360 360 0
ONjcli+= ==Z2cl & Saltl
30,0002 «1CH =12 360
202 04t 400 352 48
01 =LHOHI 400 352 48
ONoti+s gRFH
100,000 x2EH*x22 %13 400
At 28 X& 14,000 20,000 26,000
[ 7,000
Al 7,000
301 LELEN S 14,000 20,000 26,000
= 7,000
Al 7,000
02 A2 XSG (FHAAHS, NLWE) 14,000 20,000 26,000
Oxtetel 21a K& 14,000,000 14,000
= 7,000
Al 7,000
S8 SEAMHIA DB F 1,206,228 1,219,843 A13,615
= 424,500
= 256,148
[ 103,393
Al 422,187
NasE dgetd N2 8,200 10,124 A1,924
201 er2 3| 2,000 2,900 A900
01 AlR22lH| 2,000 2,900 A900
OF0l SXMHIA Y2 £&
2,000,000& 2,000
202 048l 3,200 4,224 1,024
01 2L AL 3,200 4,224 A1,024
ORBE MEIASH L2EA
100,000 x2& 22«83 3,200
203 gF=4| 3,000 3,000
03 A=A 2= 3,000 3,000
OREE MHIAGH XU =&
2,000,000& 2,000
O=2I=A gf=d 1,000,000& 1,000
A2l=XIEelel X2 119,775 107,461 12,314




S SXEB D
X XH - [P N
[ I

[0

MBI A MEHA RE(AMEI S/ S XL E

T2
el StEE SEAHIA JIBRS (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 15,836
Al 103,939
307 lztol & 119,775 107,461 12,314
= 15,836
Al 103,939
04 CIZHHAMAMH 2 & 4,300 4,300 0
OHZAIALRI S XU K& 4,300
10 AlRISXAIZEHE 22X 115,475 103, 161 12,314
OAtI=XIE el 23 73,780
== 14,756
Al 59,024
OAtz|= X823l 2 (XHH) 36,295
OAl - 2 AlRISXJ[2 SAHIM NS =g
L= 5,400
oXNSAt= 22X 1,800
s 360
Al 1,440
SN =k 3,600
S 720
Al 2,880
NSAI2EEAN 28 60,511 68,011 27,500
= 7,375
Al 53,136
201 Zet=3h] 2,520 2,800 280
01 AtR2te|HI 2,520 2,800 2280
OXIGAZIEE oM 3o&A&=g
70,0002 +x362 *12] 2,520
307 lztol & 57,991 65,211 AT,220
S 7,375
Al 50,616
10 Al SXAIEEHE2EHI 22X 57,991 65,211 AT,220
OXN S22 ZE M gdat 36,875
= 7,375
Al 29,500
OXIGASISEE M 2 3R] 21,116
KNSM2EZEAM JIsE2S 7,344 0 7,344
405 KHaHE SH 7,344 0 7,344
01 Tt ESF=HI 7,344 0 7,344
OBAIRIA A S EAM JIs22(BH
BH wA) 7,344
SASXNELHA KRAS 99,975 99,623 352
307 el2tol & 99,975 99,623 352
11 AMEISXAIEEXS 99,975 99,623 352




2A:
X XH -
o e

Sk

0

01 A8
QES SBAHIA IS

MBI A MEHA RE(AMEI S/ S XL E

SA - Z3F - SRA(E) - HRAEY

- ESS

Ofl &F2H

MEE
Ofl &k2h

| Oux-aw zas=xd 2

99,975

XS At2lSXICHE! X

2,100

A\360

307 212t01™

1,740

2,100

A\360

11 ARRIS XA E X
[e]

OXNSARIEEE AN KNS A2 S X2

1,740
1,740

2,100

A360

222X XA

Mo

=

521,000
417,000
52,000
52,000

573,000

/52,000

o

=

521,000
417,000
52,000
52,000

573,000

/52,000

521,000,000&

hoH

=

521,000
521,000
417,000
52,000
52,000

573,000

A52,000

SRRE]]

=

65,552
52,442
6,555
6,555

60,692

4,860

307 212t01™

Mo

=

65,552
52,442
6,555
6,555

60,692

4,860

05 2IR”tRIE =
OJAtZtE 201 MM At
65,552,000

SARNEY

=

65,552

65,552
52,442
6,555
6,555

60,692

4,860

KNSAAMIMEIA SXALE X

SARNEY

=

168,691
134,953
16,869
16,869

159,231

9,460

307 212+01™

SRR

168,691
134,953
16,869
16,869

159,231

9,460

05 DIRISIED
OXIALS] MHIA SXAMS
168,691,002

168,691

168,691

159,231

9,460




2A:

e
A FOMSTRAMEIA HEHAH RS(AMEISX/AEI=S R
el SIEE SEAMHIA DB E (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 134,953
=S 16,869
Al 16,869
KNS A2 MEIA SXAE 2EH] XIE 1,563 2,100 N537
= 1,250
= 156
Al 157
201 et 3| 1,563 2,100 NB37
[ 1,250
= 156
Al 157
01 AF2-2t2ltl 1,563 2,100 ADB37
OXSASIMHIA ETHAIYE 222 M S
1,563,000& 1,563
[ 1,250
= 156
Al 157
4 0S4 HI2H At 1,017 1,231 N214
[ 813
= 102
Al 102
307 el2tol & 1,017 1,231 N214
= 813
& 102
Al 102
05 2IMRIE =3 1,017 1,231 N214
Ozd OSAHLAI 1,017,000& 1,017
= 813
[ 102
Al 102
SASKNAIAE (5] 2ed) 29 3,440 4,240 2800
201 er23 | 3,440 4,240 A800
01 At2teltl 800 1,600 A800
OZASKAA A AL (5 YeH)EE S
800,000 800
02 S3=gHl 2,640 2,640 0
OEA=SXAAANAE SR 21
660,000 *4= 7| 2,640
SHs A& SEAMHIA X 78,900 78,900 0
s 55,230
Al 23,670
201 er23| 47,340 47,340 0
= 33,138
Al 14,202




2A:

e
A FOMSTRAMEIA HEHAH RS(AMEISX/AEI=S R
el SIEE SEAMHIA DB E EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
01 At2t2ltl 47,340 47,340 0
g 0t EHSXAMEIA A 2]
47,340,000& 47,340
= 33,138
Al 14,202
301 Eet2 NS 31,560 31,560 0
[ 22,092
Al 9,468
01 Al 2E A S(SRNEXMH) 31,560 31,560 0
Os Z0bt= 2A=XAEIA Ar XI2HI
31,560,000 31,560
s 22,092
Al 9,468
SHs AEE SEMHIA XA (KA) 30,600 31,200 2600
201 er23| 4,200 4,800 2600
01 AtR2t2|HI 1,800 2,400 A600
OOt 2ASXAEIA AY 22
1,800,000& 1,800
03 HAH2ZHI 2,400 2,400 0
Os u2es 243t Al X2
300,000 87K 2 2,400
206 MH=Hl 24,000 24,000
01 MZH| 24,000 24,000
s SaAg K& 3,000,000 +87H 2= 24,000
301 2N = 2,400 2,400
11 dALEBIXIE S 2,400 2,400
Os 23 MY 28 s 2 29 izl
2,400,000& 2,400
AZ7 SEAtdZel X 15,000 15,000 0
s 7,500
Al 7,500
201 er23 | 7,500 7,500 0
= 3,750
Al 3,750
01 AFR2t2ltl 7,500 7,500 0
OSEAtallZel At 22|
7,500,000 7,500
[ 3,750
Al 3,750
301 2eEN= 7,500 7,500 0
= 3,750
Al 3,750
01 A2 HSHS(RNEERTH) 7,500 7,500 0




A =SXEA
A FOMSTRAMEIA HEHAH RS(AMEISX/AEI=S R
el StEE SEAHIA JIBRS (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSEAtallZel A XI&]
7,500,000& 7,500
= 3,750
Al 3,750
SE At Z2IAL SR 7,920 6,930 990
[ 3,960
Al 3,960
202 04| 7,920 6,930 990
= 3,960
Al 3,960
01 2LHoIH 7,920 6,930 990
OSEAtdlZ2IAL =
7,920,000& 7,920
= 3,960
Al 3,960
OSAH O & 2eMA 25 A 15,000 0 15,000
= 7,500
= 4,500
Al 3,000
301 LEtE N = 15,000 0 15,000
= 7,500
S 4,500
Al 3,000
01 AR 2EHSFS(RRNEXRTHE) 15,000 0 15,000
O1U=A fig= X 15,000,000 15,000
= 7,500
& 4,500
Al 3,000
ZAHRE &2t 5,060 8,292 N3,232
SN g& SSXA 4,700 7,692 A2,992
201 Ler23 | 1,200 2,580 1,380
01 At2teltl 500 1,700 1,200
OSEZAQYR 2o 278 7
500,000 500
02 S3=gHl 700 880 A180
OSEZAIXIE XS IHA|
100,000& %12 100
OSeXARtE FAl2c
50,000& * 122 600
202 04t 1,500 2,112 A612
01 =LHOHI 1,500 2,112 NB12
OSBEARR Y2ET
100,000 3 +53] 1,500
301 22N = 2,000 3,000 21,000




S SXEB D

M FOIMSTIAMHIA MLHH RS (ASIEX /A SR LB

HRlr DA RS M2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 2,000 3,000 21,000
Og=dg Hak 237
20,0002 *100H 2,000
Slagda 2g2c 360 600 A240
201 Zet=3h] 360 600 A240
01 AtR2t2|HI 360 600 A240
Og=t s&s Ui+
30,0002« 12& 360
AZIEX] D18 ZE (A SXI/AEI S X128 95,899 65,298 30,601
= 26,788
Al 69,111
NSA2l =X D18t 5 95,899 65,298 30,601
=S 26,788
Al 69, 111
ARISRIAL X9 et & Sz X2 50,000 0 50,000
< 25,000
Al 25,000
201 =3 50,000 0 50,000
& 25,000
Al 25,000
01 At2tltl 50,000 0 50,000
OAIRISXIAIE SAEL S&det X2 40,000
= 20,000
Al 20,000
OAISAsRE S 938 10,000
s 5,000
Al 5,000
ABISXAY 2 S4sHEM) 37,939 50,163 A12,224
307 elztol & 37,939 50,163 N12,224
03 M EHE2SHIEX 28,539 20,723 7,816
OZOHUEHH 22HI(3H EHl) 28,539
11 AMEISXAIEEXS 9,400 29,440 A20,040
OZOHAEH SXSTAFS (KM 29HAH) 9,400
CHHAOHE S8 X3 6,000 6,000 0
s 1,200
Al 4,800
301 EtE NS 6,000 6,000 0
< 1,200
Al 4,800
02 A2 EH LGS (HAAS, NLWE) 6,000 0 6,000
Ot SE8X1& 6,000
= 1,200
Al 4,800




A SXEH
A ARSI Ol 2 (ARISXI/AEI S X LE)

&2 XA =X J1gE 1% (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SE0IE==2X A 1,960 2,800 AB840

& 588
Al 1,372
301 LPBNEZ 1,960 2,800 A840
& 588
Al 1,372
02 MEIZZHAHB(FHENE, WL 1,960 2,800 A840
OsEolgFe NHS FHE N
700,000& 700
T 210
Al 490
O=sH0/250 Had stel X2
1,260,000& 1,260
& 378
Al 882
S HIENE N EENE S EED 9,831,811 9,423,673 408,138
= 3,410,375
T 993,945
Al 5,427,491
OISRl MHIA Shad 6,082,739 5,951,117 131,622
= 3,410,375
& 909,670
Al 1,762,694
ZOoel=sX S22 = 7,032 11,362 24,330
201 B2 AY| 5,232 7,842 A2,610
01 AR 22lt] 5,23 7.842 £2,610
OXeI=sX 222 ¥ 82435 M
500,000& 500
OIS RIFNE SBbHSH]
2,292,000& 2,292
OXOeIN=SA EXI ME 600,000 600
OBOHAILTIR] OIF PR 2L
500,000& 500
Q=D Iz 23S 4+
70,0002 x3H *23| 420
OZOHIADH S Al F& 500,000& 500
OZUNABSR AR EHasD
70,0003 *1H+63| 420
202 0441 1,800 3,520 A1,720
01 =2LHO4 ] 1,800 3,520 A1,720
OZ =X (MEH ) HRFX
100,000 *3H 63| 1,800
ZoHQlole AL 12,628 11,861 767
307 212+01 A 12,628 11,861 767
11 AR SXAMEES 12,628 11,861 767




2N SXFY
I ZOHCl =2X SA(ALZX/FHAHSIIH)
CHRl: EOHQISX| AHIA BHAH

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OR44sl Zolelol i sAl 12,628
ZOHIERM ALK 41,203 12,500 28,703
301 EtE2 N = 41,203 2,500 38,703
11 #AIAMHIXIZ S 41,203 2,500 38,703
OHOHe! EHMl A BIF S
3,000,000 3,000
OHOHAUEH SXSEALE (50 SHHl O 9A
&) 23,933,000 23,933
OR273] ZOHO! SHHBZ &
6,906,002 6,906
QAT AIZHONQI 8IS BT
3,680,000& 3,680
OBEHZHAl ZOHQIEH SHE 2| ofHl =&i3]
3,684,000& 3,684
ZoHe! SXILAel X 369,308 350,944 8,364
= 179,654
< 35,931
Al 143,723
101 e124d| 361,308 346,944 4,364
= 175,654
=S 35,131
Al 140,523
04 JIZtN2Z2XNSE+ 361,308 346,944 4,364
O AL X (FHHE)
351,308,000 361,308
= 175,654
=S 35,131
Al 140,523
201 223 8,000 4,000 4,000
= 4,000
= 800
Al 3,200
01 AtS2t2ltl 8,000 4,000 4,000
o xel2d 8,000,000& 8,000
= 4,000
= 800
Al 3,200
ool Lere el N 443,538 403,680 39,858
= 221,769
= 44,354
Al 177,415
101 @12A4H| 442,038 402,180 39,858
= 221,019
= 44,204




2A:

E M

X=]

o HOHRISX MBIA

SINESES I}
Zohel =X SE(A

osw

o

[SX/FHAHNEXR)
I.

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 176,815
M IIIMZ2Z2XSE+ 442,038 402,180 39,858
OFOIL R XA (ML)
442,038,000& 442,038
= 221,019
& 44,204
Al 176,815
201 Ler2 | 1,500 1,500 0
= 750
& 150
Al 600
01 AtR2telt] 1,500 1,500 0
OZoHeILRtel 2 1,500,000& 1,500
= 750
& 150
Al 600
ZOHQIAIERIZ Rt KI & 192,162 173,047 19,115
= 96,081
& 19,216
Al 76,865
101 2124 d| 190,662 171,547 19,115
= 95,331
= 19,066
Al 76,265
M IIZtHZ22SE 190,662 171,547 19,115
OFofILX 2K %(/\I 2HH)
190,662,000& 190,662
= 95,331
= 19,066
Al 76,265
201 Let2| 1,500 1,500 0
= 750
& 150
Al 600
01 AtR2elt] 1,500 1,500 0
O dXtel 29 1,500,000& 1,500
= 750
& 150
Al 600
A2 EOH QI CHOFAL TIHA 18,625 18,223 402
= 14,906
= 744
Al 2,975
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Chel: HOHRI=X MHIA 8Faf EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 18,625 18,223 402
= 14,906
== 744
Al 2,975
10 Al2ISTIAIEEE 22X 18,625 18,223 402
OAIZLZHOHQ! CHORAF A (1Y)
18,625,000 18,625
= 14,906
== 744
Al 2,975
LT RLYESA EX 74,667 54,752 19,915
= 37,334
== 7,467
Al 29,866
307 212+01& 74,667 54,752 19,915
= 37,334
= 7,467
Al 29,866
10 Al SXAZEE 22X 74,667 54,752 19,915
LLHYO QUEEA BE
74,667 ,000& 74,667
= 37,334
= 7,467
Al 29,866
el DE=EMAs NE 70,000 90,000 /20,000
< 35,000
Al 35,000
301 2eEN= 70,000 90,000 /20,000
& 35,000
Al 35,000
02 A2 EH 2GS (FHAAHS, W) 70,000 90,000 A20,000
Ol NESFIEHS NFA
70,000,000& 70,000
= 35,000
Al 35,000
=== N=(01=) 300,523 284,229 16,294
= 210,366
= 63,110
Al 27,047
301 EtE2 N = 300,523 284,229 16,294
= 210,366
= 63,110
Al 27,047
01 Al EEABZ2(2REEMR) 300,523 284,229 16,294
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Chel: HOHRI=X MHIA 8Faf EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OH=+=g(Ix) X& 300,523,000& 300,523
= 210,366
== 63,110
Al 27,047
=2 (X S) 254,644 261,524 26,880
= 178,251
== 53,475
Al 22,918
301 22N = 254,644 261,524 26,880
= 178,251
= 53,475
Al 22,918
01 Al E2E A S(FREEMA) 254,644 261,524 26,880
OF=E N (X2 S)
254,644,000 254,644
= 178,251
= 53,475
Al 22,918
o= X 1,388,857 1,692,778 303,921
= 972,200
= 124,997
Al 291,660
301 EtE2 NS 1,388,857 1,692,778 303,921
= 972,200
= 124,997
Al 291,660
01 Al EE A S (2 DEXR) 1,388,857 1,692,778 303,921
O&oje A= 1,388,857,000& 1,388,857
= 972,200
= 124,997
Al 291,660
Zoje! 2sXE=20 XA 1,442,366 1,366,329 76,037
= 1,009,656
& 86,542
Al 346,168
307 elztol & 1,442,366 1,366,329 76,037
= 1,009,656
< 86,542
Al 346,168
05 2ItRIE = 1,442,366 1,366,329 76,037
Ol X2 1,442,366,000& 1,442,366
= 1,009,656
s 86,542
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o2l ZOoHeI=X MblA aad (CHol: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| Al 36, 168
=81 =0 6,732 2,213 4,519
= 4,712
& 404
Al 1,616
307 QI2Hol ™ 6,732 2,213 4,519
= 4,712
& 404
Al 1,616
05 QIZtRIEIS 6,732 2,213 4,519
OZoHel esX& Jrtg™
6,732,000& 6,732
= 4,712
& 404
Al 1,616
LETHEAEIA HISH At 141,316 96,000 45,316
= 98,921
& 8,479
Al 33,916
307 212+01 A 141,316 96,000 45,316
= 98,921
= 8,479
Al 33,916
05 2IZtRES 141,316 96,000 45,316
OLESTHEAMIA BISH A2
141,316,000& 141,316
= 98,921
= 8,479
Al 33,916
LSO F2UESMEHIA X 525,458 278,337 247,121
= 367,820
= 31,528
Al 126,110
307 QIZ2t01 A 525,458 278,337 247,121
= 367,820
= 31,528
Al 126,110
05 QIZtRIEr S 525,458 278,337 247,121
OYLHME FAHEHHIA X2
525,458,000& 525,458
= 367,820
& 31,528
Al 126,110
NASHEOfR! XEH| L HAtHl XI& 498 498 0
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s ZOHRISKI AMEIA g (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 249
=S 50
Al 199
307 @I2to| & 498 498 0
= 249
&< 50
Al 199
012z & 2=H| 498 498 0
OMASEOQ el & Al X2
498,000& 498
= 249
& 50
Al 199
Mg satglE N 1,200 2,000 A800
= 840
= 72
Al 288
301 LEtE N = 1,200 2,000 2800
= 840
= 72
Al 288
01 Al EEAGZ(2REXMR) 1,200 2,000 A800
OWdg&el EdHIE N2
1,200,000 1,200
= 840
S 72
Al 288
Zofel=2=J|+ XA 1,891 2,887 2996
= 1,512
S 76
Al 303
307 glztol & 1,891 2,887 2996
= 1,512
== 76
Al 303
0122 & 3=l 1,891 2,887 2996
OFHe! Bx2I1+7 X 1,891,000& 1,891
= 1,512
=S 76
Al 303
o 2lzdl XI& 20,130 36,790 215,660
= 16,104
=S 2,818
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Al 1,208
308 AtXIEHMSOIE 20,130 36,790 15,660
= 16,104
= 2,818
Al 1,208
18 SIS0t HAS A 20,130 35,790 15,660
OFoHel 2l=dl X&H 20,130,000 20,130
= 16,104
& 2,818
Al 1,208
ZoHe! J=ME2H & 54,048 39,600 14,448
= 10,810
Al 43,238
307 gl2tol & 54,048 39,600 14,448
=S 10,810
Al 43,238
012z € 2/=H] 6,000 6,000 0
OFfe A2Z& X2 5,000,000& 5,000
[ 1,000
Al 4,000
OHlg: 28+ #2dl X
1,000,000 1,000
= 200
Al 800
11 AMISXAIEEX 48,048 33,600 14,448
O 24 X 48,048,000 48,048
== 9,610
Al 38,438
ZOHQIXIE otOlA 2SI &X| X 1,187 0 1,187
= 237
Al 950
301 EtE N = 1,187 0 1,187
= 237
Al 950
02 AR 2HHLFS(HAAS, XNLHE) 1,187 0 1,187
OZONQIRIE StOlA =&l £X X 1,187
=S 237
Al 950
ZOHQ! HAlE 2l 60,000 32,319 27,681
401 Al HIZL S 0HYI 60,000 4,000 56,000
01 Al&HI 60,000 4,000 56,000
Ol =XAIE 2BEH]
60,000,000 60,000
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201 er23 | 12,000 12,000
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Ol JiE K& A =& 11,550
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Al 11,200
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= 4,800
Al 11,200
02 QI X2 AL EE(0IETHE) 16,000 16,000 0
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= 4,800
Al 1,200
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S 259,200
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OMIRNH SISt 2atdad] X 259,200
= 259,200
307 212+01& 347,516 269,412 78,104
< 120,000
Al 227,516
11 AMEISXAEEES 347,516 269,412 78,104
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Sl HOHOI=XAIE 29 X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ctESd 2,520
ocHESY 13,657
oARIEEE 18,849
SR 12,729
OB Zojol Zer=T2 F2ALSHE 2
S (2EHI) 13,800
Ot Hofel Se=aXa FA2SHEH 2
SR (ArZHI) 3,000
Zofel HEXNFMH 28 N 47,500 47,500 0
== 9,500
Al 38,000
307 212+01& 47,500 47,500 0
< 9,500
Al 38,000
10 Al2IS XA EEE 22X 47,500 47,500 0
OAIZEONQ IRIXIZHE SST2
47,500,000& 47,500
= 9,500
Al 38,000
Zopel IS 2E I 139,254 104,995 34,259
== 39,851
Al 99,403
307 212+01& 99,254 94,99% 4,259
< 19,851
Al 79,403
10 Al2ISTIAIEEE 22X 99,254 84,995 14,259
OO ZEALM 2% X
99,254,000& 99,254
= 19,851
Al 79,403
402 2I2F X201 & 40,000 10,000 30,000
s 20,000
Al 20,000
02 QI EASEZ(0IETHR) 40,000 10,000 30,000
OFfABB AL X2 7Y
40,000,000 40,000
& 20,000
Al 20,000
IHI2EA DAL K& 116,612 106,838 9,774
= 960
Al 115,652
307 @20l & 116,612 106,838 9,774
=S 960
Al 115,652
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= 960
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odEsd 8,224
cARIEE= 11,434
SRR EE 7,722
ZOHIESA L X AHE 29 52,940 53,215 A275
< 10,588
Al 42,352
307 glztol & 52,940 53,215 N275
= 10,588
Al 42,352
10 Al SXAAEEHE 22X 52,940 53,215 A2T5
OHUMAHIA LR ALEH 2
52,940,000 52,940
= 10,588
Al 42,352
ZOHAIFXAIE SAHAL SX+=& 109,680 110,760 1,080
[ 21,936
Al 87,744
307 glztol & 109,680 110,760 A1,080
= 21,936
Al 87,744
10 Al SAAIEEHE 22X 109,680 110,760 1,080
OHMA=SXNAIE SAHL S+
109,680,000 109,680
S 21,936
Al 87,744
ZOHRAISXDI2 SAEL HRME = 7,200 7,200 0
& 1,440
Al 5,760
307 elztol & 7,200 7,200 0
S 1,440
Al 5,760
11 AMEISXAIEEE 7,200 7,200 0
OZOHA=XI 2 SAH HRME=SZ XA
7,200,000& 7,200
= 1,440
Al 5,760
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| Ouz siez 2ol 4,600,00021 23] 9,200
Kal+32l & JIgsAl 3,000 3,000
201 Yere ] 3,000 3,000
03 HAL2 | 3,000 3,000
OMal+50] & sAr 3,000,002 3,000
BEY WA 11,900 11,900 0
201 Yere ] 7,900 7,900
01 AR 22l 700 700
Os3Eel g ZHE A
70041251, 00004 700
03 L2 S| 7,200 7,200 0
OHEY BASE 7Y 3,000,002 3,000
OBEY A B0 N
700,002 +13] 700
OBZY A B0 BHE X8
500,0008413] 500
OBEY BAL MO, oI Y WTTof
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301 LererEa 4,000 0 4,000
TETTEE 4,000 0 4,000
OBEY AL RIIE ¥ 2N 24 X
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201 gere | 2,660 2,660
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O848 2 thLi(B2S)
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OBI=01204 1,002 4000} 400
OZHE M= 7004 +B000H 560
Ostet 100,000 520H 2 200
301 Yere 3,200 3,200
11 BAIAHIXIEI 3 3,200 3,200
OB.25% AN 2} REX B4 N
8,00021*4002 3,200
SEEAL 2l 20,6% 10,800 9,85
201 Zere ey 20,6% 10,800 9,85
01 AR 22l 5,656 0 5,656
O=ADI ext2 60,0002+ 128 720
OB o Y RABR| HY++E
150, 0008+ 122 1,800
OFIIgH| erpel (48
10,0008+ 122 1,320
ORoIZHIAIAY ]2
110, 0008 122 1,320
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02 2324l 15,000 10,800 4,200
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SEEEETE
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ZH(SXE2D) (J1EHDIIE 233,463 230,3% 3,107
= 77,892
Al 155,571
Jl=2&d| 30,599 32,235 A1,636
Jl=&H| 30,59 32,235 A1,636
201 L= 24,719 26,195 A1,476
01 AFS2t2ltl 20,879 22,355 A1,476
ORAM=24d Jl=Z 4l 200,000 122 2,400
OAMSES FU(ZAX E)
200,000 123 2,400
OHEANRII| A2E 7Y
200,000 *6LH*22] 2,400
O=ADI(=8I) YR
250,000& 1CH+ 122 3,000
OweE4Il YN
49,9003 *10H*123] 599
O=gtl 8,000&+21F+53|« 122 10,080
02 2324l 3,840 3,840 0
ew23 320,000+ 122 3,840
202 044l 1,680 1,840 A160
01 =LA LI 1,680 1,840 A160
OBl&2% UoIL
20,0002 +21H 43| 1,680
203 YR=EH| 4,200 4,200
VR EET = 4,200 4,200
ORMeYREIY 350,000+ 122 4,200
el 2 202,864 198, 121 4,743
Fas 77,892
Al 124,972
oIA2 A (SE A2 EIAL 143,544 141,849 1,695
[ 48,132
Al 95,412
101 @124H| 132,314 131,859 455
s 42,517
Al 89,797
03 BRA(RIHL)22NHE > 132,314 131,859 455
OBBAABEIAN(ETARE, 832) 41,468
S == 2,119,488« 122 25,434
= 12,717




SKAEE L
HY2HAH(SXZ ) (DIEHIIEH
ol 2|
C . GR(B) - HIRMY - BES Ol &4 A
Al 12,717
oAt 2f+H 1,010,000& 1,010
s 505
Al 505
odI2sH 2,119, 4833 *40%*23] 1,696
oHE SR 2,119,483 +60%*23! 2,544
oIS 119, 1482+ 192 2,264
oSSR 50,0003 128 600
o AT Y 150,000& « 128 1,800
oA +E 90,0003 «12& 1,080
oMz A| 140,000 « 122 1,680
ox DAL 30,0002 124 1,560
oI 2 4| 80,000& 128 960
=JIERY 40,0003 x 12128 480
oA SN YRS 30,0002« 122 360
OSESAHZCIAHEHAREY, 1158) 45,118
=JllZ2g 2,210,441&3+ 128 26,526
= 13,263
Al 13,263
oAt 2ReE 2,000,000& 2,000
s 1,000
Al 1,000
¥+ 2,210,441 +50%*23] 2,211
ocdERIIHI 2,210,4412 +60%+*23] 2,653
S AUPNEI=ER =Sy 124,6202 192 2,368
oSl sd 50,000 128 600
oXNAT A+ 150,000 « 122 1,800
ofExd 90,0003 *12& 1,080
o HMZ A 140,000& « 128 1,680
o X4 130,000 «12& 1,560
= JIHE 2| 80,0002 x12& 960
oJiERY 55,000 2 * 128 1,320
SN CIE=PNR= Bt =y 30,0003 *12& 360
OSEAMAZCIAHEHARR, 1558) 45,728
=llEgs 2,338,600& «12& 28,064
s 14,032
Al 14,032
oAt 2R+E 2,000,000& 2,000
s 1,000
Al 1,000
odIH 2,338,600 *50%+*23] 2,339
ocHESIHI 2,338,600 «60%*23] 2,807




A SXNEH
3. AY2IIH(SNEHD) (OIEH/IIE
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SRubCI= EEas RS 130,420 » 19 2,478
oS+gR+d 50,0002« 12 600
oXNHEA+H 150,000 ~ 128 1,800
SR l=Eas 90,0002~ 128 1,080
oFASAH 140,000~ 12& 1,680
oXRg 130,000& * 12 1,560
S IAIE X4 80,0002 123 960
oM=K HRE 30,0002~ 12& 360
WM HsEE=S 11,230 9,990 1,240
= 5,615
Al 5,615
01 d=2g=3 11,230 9,990 1,240
OEXNE= 11,230
oSEAUZACIANBEAURY, 853)
14,8983 *BAl 2tx30 3,576
[ 1,788
Al 1,788
o SEAZACIAN(BEZARH, 123)
15,5803 *8A| 2H+30 3,740
s 1,870
Al 1,870
oSEAUZACIANBEAURY, 1553)
16,3053 *8A| 230! 3,914
[ 1,957
Al 1,957
olERHH|(ssH2RIALY) 59,320 56,272 3,048
= 29,760
Al 29,560
101 @124H| 59,320 56,272 3,048
= 29,760
Al 29,560
03 SRH(RINHA) 222+ 59,320 56,272 3,048
O2==20d Atddiztel (59 old, Ji2) 59,320
ollEg ¥ ARIZRH
37,200,000& 37,200
[ 29,760
Al 7,440
S Sat=t 2,250,680 *400% 9,003
ocHES I 2,250,680 x60%*22] 2,701
SAuPNEE=Eo PR 137,6452 19 2,616
oy A AH| 140,000« 128 1,680
okt 30,0002« 12& 360
SR ] 90,000& ~ 12 1,080
o JHA 2 2| 40,0002 128 480




SH: =NEMY
3. AY2IIH(SNEHD) (OIEH/IIE
=9 elmEet| (EH9): ®2)
SA - B BRA(SH) - HRA - of v e HIDE2
QIR 100,000& « 12& 1,200
cEsE 250,000& 12 3,000
HeEsS(SXNEML) (MSISX /I =HEBE) 687,297 745,504 N\58,207
WA= 687,297 745,504 A\58,207
WA XIE 687,297 745,504 A\58,207
701 JIEtRI HSHES 687,297 745,504 A\58,207
01 It AN ES 687,297 745,504 58,207

O2A=2s 5L H&E=2 687,297




